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EXpliCit formulas can generate any term in the sequence.
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Recursive formulas show how to produce the
next term from a known term.

What is the sequence
doing over and over again?

Recursive formulas

are used in computer
programming
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(Question #2) S

In a new seque[?ce, what does the following mean? 'I,', (3 Z) = I%w
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(Question #3)

Determine whether 530 is a term of the sequence (¢(n)=8 + 6n
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(Question #4 )

Given the recursive sequence below, list the first 5 terms of the sequence

N LT
RN

IS R

t,=3
tn+1=5@9_1 o




January 09, 2019

. Write the first few terms of each sequence. Then identify each
( QueStlon #5) sequence as arithmetic, geometric or neither.

o t(")" A plmetic #2  in) #3  un)
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(‘Question#6 )  Mystery sequence

clues: ¢¢(5) =32 and t(11) = 56

find the arithmetic sequence
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Sketch Y= 833 +5
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Find the y-intercept analytically.

5:3(15(

Graph and find the y-intercept.
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Assignment Appendix

A....24, 56, 78, 83, 99, 100

Exponent Review

Boot camp

Manipulating Powers

4) (ab)* = a*b* 7 # =a*
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Mﬂaoo»« Manipulafing Powers

| 1 (@=a

2)g*-a'=a"

Simplify each expre.sslon. (0
Example: () = x4 = x® 1. A2 | X
2 v X 3. 02y :<X)°‘j -
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